
Lesson4

SUBTRACTION

Exercise4.3.

----------------------------------------------------------

Solvethefollowing.

1.Inafarm,thereare550trees.Duetoheavyrain328

treeswereuprooted.Howmanytreeswereleftinthe

farm.

Solution

No.oftreesinapark=550

No.oftreesuprooted=328

No.oftreesleftinpark=550–328

H T O

4 10

5 5 0

__ 3 2 8

2 2 2



Finalstatement–Thereare222treesleftinthepark.

____________________________________________________

2.Inaschool,thereare3416students.Ifthereare1798

boys,thenhowmanygirlsarestudyingintheschool?

Solution

No.ofstudentsintheschool=3416

Noofboysintheschool=1798

No.ofgirlsintheschool=3416–1798

Th H T O

13 10

2 3 0 16

3 4 1 6

- 1 7 9 8

1 6 1 8

Finalstatement–Thereare1618girlsstudyinginthe

school.

3.Inalibrarythereare5689books.If2147booksare



issued,howmanybooksareleftinthelibrary?

Solution

No.ofbooksinthelibrary=5689

No.ofbooksissued=2147

No.ofbooksleftinthelibrary=5689–2147

Th H T O

5 6 8 9

- 2 1 4 7

3 5 4 2

Finalstatement-Thereare3542booksleftinthe

library.

_____________________________________________

4.Onarainydayoutof3000studentsinschool,145

studentswereabsent.Howmanystudentscameto

schoolthatday?

Solution

No.ofstudentsenrolledintheschool=3000

No.ofstudentsabsentduetorain=145



No.ofstudentspresentintheschool=3000–145

Th H T O

9 9

2 10 10 10

3 0 0 0

- 1 4 5

2 8 5 5

Finalstatement=2855studentscametoschoolon

rainyday.

5.MrAnandearnsRs.9856permonthandMrsAnand

earnsRs8548permonth.Whoearnsmoreandby

howmuch?

Solution

MoneyearnedbyMr.Anandinamonth=Rs.9856

MoneyearnedbyMrsAnandinamonth=Rs.8548

Th H T O

4 16

9 8 5 6



- 8 5 4 8

1 3 0 8

FinalStatement=Mr.AnandearnsmorebyRs.1308.

______________________________________________

6.From thesum of4568and3569,subtract5856.

Solution

Sum of4568and3569

Th H T O

1 1 1

4 5 6 8

+ 3 5 6 9

8 1 3 7

Subtract5856from 8137.

Th H T O

10

7 0 13

8 1 3 7

- 5 8 5 6



2 2 8 1

Answer=2281

__________________________________________

7.MrsSharmaearnsRs8000everymonth.Shesaves

Rs.1685permonth.Whatishermonthly

expenditure?

Solution

MoneyearnedbyMrsSharmaeverymonth=Rs.8000

MoneysavedbyMrsSharmaeverymonth=Rs.1685

MoneyspentbyMrsSharmaeverymonth=Rs.8000

–Rs.1685

Th H T O

9 9

7 10 10 10

8 0 0 0

- 1 6 8 5

6 3 1 5

Finalstatement=MonthlyexpenditureofMrsSharma



isRs.6315.

________________________________________________

8.Outof5645kgonionsinthemarket,4810kgonions

weresold.Howmanykilogramsofonionswereleft?

Solution

Kilogramsofonionsinthemarket=5645kg

Kilogramsofonionssold=4810kg

Kilogramsofonionleftinthemarket=5645–4810

Th H T O

4 16

5 6 4 5

- 4 8 1 0

0 8 3 5

Finalstatement=835kgofonionswereleftinthe

market.



9.SujataearnsRs6450inamonth.IfshesavesRs.

3095everymonth.Howmuchshespendsevery

month?

Solution

MoneyearnedbySujataeverymonth=Rs.6450

MoneysavedbySujataeverymonth=Rs.3095

MoneyspentbySujataeverymonth=6450–3095

Th H T O

14

3 4 10

6 4 5 0

- 3 0 9 5

3 3 5 5

Finalstatement=SujataspendsRs.3355every

month.

_____________________________________________

10. Inaschool,thereare1645students.798ofthem

areaboveVthclass.Howmanystudentsarebelow

Vthclass?



Solution

Totalno.ofstudentsintheschool=1645

No.ofstudentsaboveclassVth=798

No.ofstudentsbelowclassVth=1645–798

Th H T O

15 13

0 5 3 15

1 6 4 5

- 7 9 8

0 8 4 7

Finalstatement=847studentsarebelowVthclass.

_____________________________________________

11. Aboygave1360sweetstohisclassmatesand

985sweetstohisteachers.Ifhehad4500sweets,

howmanyareleft?

Solution

No.ofsweetsgivenbytheboytohisclassmates=

1360



No.ofsweetsgivenbytheboytotheteachers=985

Totalno.ofsweetstheboyhad=4500

No.ofsweetswiththeboyafterdistribution=1360+

985-4500

Th H T O

1 3 6 0

+ 9 8 5

2 3 4 5

Th H T O

9

4 10 10

4 5 0 0

- 2 3 4 5

2 1 5 5

Finalstatement–2155sweetsareleftwiththeboy.



12. Therewere3000pagesinabook.IfNikitaread

1420pagesandAnkitaread1035pages,howmany

areleft?

Solution

Totalno.ofpagesinthebook=3000

No.ofpagesreadbyNikita=1420

No.ofpagesreadbyAnkita=1035

No.ofpagesleftinthebook=1420+1035–3000

Th H T O

1 4 2 0

+ 1 0 3 5

2 4 5 5



Th H T O

9 9

2 10 10 10

3 0 0 0

- 2 4 5 5

0 5 4 5

Finalstatement=545pagesareleft.

____________________________________________


